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EXAMPLE 1 Find the most general antiderivative of each of the following functions.

(a) f(x) = sinx (b) f(x) = 1/x © flx)=x", n# -1
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EXAMPLE 2 Find all functions g such that
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EXAMPLE 3 Find fif f'(x) = e* + 20(1 + x*)' andM
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EXAMPLE 6 A particle moves in a straight line and has acceleration given by
a(t) = 6t + 4. Its initial velocity is v(0) = —6 cm/s and its initial displacement is

s(0) = 9 cm. Find its position function s(z).
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(
59. The graph of a function is shown in the figure. Make a ( F <O )

F \ (Q( rough sketch of an antiderivative F, given that F(0) = 1.
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